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Note : Attempt any one question.
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Section-A / TUE-H
(Long Answer Type Questions)

(&Y 3584 we=)
30 each

$ae TP U P F< A
Define the following characteristics of 3d-series

of elements:
(a) Ionic radii

| (b) Oxidation states

(c) Complex formation tendency
Ul & el &b e 7T el @ ST Pify
(@) smafe Bsamw
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Na

Mme the
!UPAC fD“'“"\r‘ving complexes according to
S.‘)"Stetn:

@) py
(b) [Cr(en_;)]gL OISO,

(c . 3
! KilFerco)
:;) PUNH ), picy
PAC 71]1;3%%& . ol
MR OR =1 Hgpe T A
s g
(a) ['PT{NHBJ,_(NDz}CI]SO‘;
(b) [C'r(en_}}]c‘i__
(c) KH[FE{Ca(};L]
(d) [Pt(NH,), [PtCI]
Explain the following reactions with the help of
reaction mechanisms:
(@) Claisen rearrangement,
(b) Perkin’s reaction :
(c) Hofmann’s bromamide reaction.

frafoifRaa sfufeant o afifear fAfr &

qrfeeA |
(c) gfpis FHHARS Siﬁiﬁsm
Explain diazotisaton withreactionmechanism.
you obtain the following with the
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ot ide?
help of benzene diazonium chlort i S'a'ctit.‘um-l} | aus-d

(a) Diazoamino benzene (Shor¢ Ans .
(b} Nitro benzene wer Type Questions)

- (o1 e s7e1)
(c) Phenyl hydrazine | 7
sEusER @ wfiean f&f @ e A“e’_“P‘ any four question. 124 each
FARTEE B SCRll fst *
qeRe | $i Susad TR U ¥ 3ex A
¥ 3 Preffiae $7 A2 i
e W Caleulate  of eyt ion
E':,; .  Cu'smE & |, @ o s
() u%‘rmsﬁ's's'gjﬁﬁ“ (i) Why atomic sizes of Zirconium and

Hafnium are some what equal?
ferafom & ol W] & DR
TITHT &_16R 4t &l 87

(iil) Tnner and outer orbital complexes of iron.
THE @7 3r: @ arel e et Al

(iv) What is the Teason for high viscosity of

5. (a) Calculate the pressure-volume W_Ofk
performed by the system during reversible
isothermal expansion of two moles of an
ideal gas from 2 litto 10 lits at 20°C.

e =g M & &1 d@ex @ 20°C I
IohE THA fTRR & gRT 29 ohex
B H TE-3ITH S & 0FT ER
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(b) Derive the relation - Glycerol?
RN P G T FereRier B warmar 3w 2 @1 @ aRoT
AG"——-RTanP (v) Why is phenol more acidic than alcohol?
6. (a) Write and explain Le-Chatelier's Principle. BTeT, vebreet B 3en iftd e o

o wrerfere & Fam o SR Ty

b) Defi : her. Descry : - :
() Define transpon m“hhcl. Dsscnhe any (vi) Water has a higherboiling point than that
one method of its determination, of ethanol. Why?

AT ey w7 Sy FaHID W X aifers
B & g} o B @ 301 a?r?a-q?m z:’;pﬁ BT &
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Describe Ostwald's dﬂﬂﬁnn law

shrgaes ® 7L -%ﬁ il e B

(vii1) Describe Einstein s Laﬁ""“‘fi‘hmochcm ical
equivalence.
e B TP W o0 oy
ufeeriva &R

(ix) Write the staT:&I‘ﬂEms % second law of
thermodynamics
el & fea
for|

(x) Describe Henry's Law.

) ¥ Foram @Y TR 3|
Section-C / @UE-¥

(Objective Type Questions)

(TS 7e)

(vii)

W % gai B

8. Attempt any five question. 4 each
fs=e1 dfer et & 3o el
()  Which elements belongs 0 d-block?
(@) K (b Me
(© Cr (@ U
BN W T dogs & T €7
(a) K b Me
() Cr 1) U
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a0 The Coordipation number of Cf 1
[Cl‘(en)z] cl
(a) 3 } (b) 4
() s . (@ 6 _
é.Cr(en’]S]CL'ﬁ Cr & JUgESarTH el
I ‘
(@ 3 (b) 4
() 5 (d) 6

(iif) Which one is non-protonic solvent
among the following solvents.

(a)  H,O (b) NH,

() SO, (dy CH,COOH
RrerferRae femrat 3 smieie femm
gl

(@ HO (b) NH,

(c) SO, (d) CH,COOH

(iv) Which of the following is a Sulpha drug:
(a) P-aminobenzoic acid
tRedAY S5 3
(by Cibazole (Rarstrer)
(c) Pyridine (fR&)
(d) Paracetamol (RifrewTen)

(6)
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(v) Which of the folloWing ;¢ more acidic?

Praffiad § T P i gty 22

(a) Hyroxy beDZene (Fastaedy Fo?)

(b) O - Cresol (3 B
(¢) M- Cresol (€T - fiifen)
(d) P- Cersol (7 - Frsifen
(vi}) Glycerol on dehydration gives:
(a) Acrolin (GHITH)
(b) Glycol (TATSDHICT)
(c) Ethyl alcohol (O vemiEet)
(d) Amine (EA)
(vii} Which does form lodoform:
IETGH BIF &l &
(a) HCHO
(b) CH.CHO
(¢) CCI.CHO
(d) CH.CHO
(viii)Select the correct relation.
(a) AH=AE+PAV
(b) AH=AE-PAV
(¢} AH=AE-PV
(dy AH=AE+ART
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NS
(&} i;}@;{} EI'-?[ :

¢ AE-pPAV

Edi iH*&E—gv

Heat DHQE—“E-%&RT .
sodijy, | "CUtralisation of acetic acid W1
(a) M hydroxide is expected to be about:

13.7 keal
(b) =139 keal

©) ~134 10

(d) =14, kr.:ZI N
3 ik e eRgiaaTss

mmmﬁﬁ :

(@) -13.7% &9

(b} -13.9 5. Sary

{c) 134T &%

(x)

(d)y -14.115. a0

The strongest acid among the following is :

(a) Monochloroacetic acid
(b) Dichloroacetic acid
(c) Trichloroacetic acid
(d) Aceticacid
(a) Iﬂ:hﬁ‘f*ﬂﬁﬂﬁlﬁ‘cﬁ Uﬁ'—‘lg
(b) gRdIRLNes vhie
(c) ﬁaﬁﬁﬂﬁ:ﬁiﬁ S

urafem e

(8)
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